]

12. 458 =

O kFA—J)LTRAME

e

7 TEA e 24 9| [ 11~30m 31~50m
No. il &5 EAn] S | R 50m [AW| JEfI | MBHET | BRI | MB#&#% | JEAL | IIOEBE | JEGL | SZEEREK |AW| JEGL 300m [AW| JIEfz | 1000m |AW| JEfL
1 R | EMA EA 1| 8 79 |AW| 79 5.20 93 4.10 96 1.86 82 875 |Aw| 87 52.3 |AwW| 83 342 |AW| 65
2 PR | BiE MR 1| 8 81 |AW| 89 6.60 81 4.70 93 1.83 85 9.15 |Aw| 80 51.7 |AwW| 81 3.46 |AW| 70
3 PR | T W 1| 8 80 |AW| 82 6.80 78 5.90 81 1.92 79 8.80 |Aw| 86 50.7  |AW| 76 3.46 |AW| 70
4 PR | RE B 2| B 6.7 |AW| 4 10.80 | 14 11.40 6 2.30 18 11.10 |Aw| 13 413 |AW| 4 316 |[AwW| 17
5 R | T B} 2 | B 75 |AW| 55 9.25 34 7.40 53 2.07 59 9.50 |Aw| 63 50.7  |AW| 76 3.54 [AW| 80
6 PR A ik 2| B 74 |AW| 52 9.30 32 8.60 30 2.20 35 10.00 |AW| 51 484 |Aw| 61 3.48 |AW| 75
7 FER | IR #E 2 | B 69 |AwW| 8 1030 | 21 5.90 81 2.25 26 11.80 |AW| 6 418 |AW| T
8 &R | BB 2] 2 | B 69 |AwW| 8 10.80 | 14 6.20 78 2.46 3 12.80 |AW[ 2
9 freER | B 7 1| 8 72 |AW| 34 9.20 35 9.10 25 2.16 43 10.40 |AW| 35 445 |[Aw| 31 327 |AW| 36
10 PR | & RE 1| 8 7.1 |AW| 25 7.75 64 5.70 85 1.97 72 1020 |AW| 42 452 |Aw| 38 340 |AW| 60
11 | BmRsi| = 3 2 | B 6.6 |AWp 2 8.70 43 10.10 17 2.64 1 9.70 |Aw| 57 424 |Aw| 13 321 |Aw| 24
12 | BRs)| KE E2=} 2 | B 7.1 |AW| 25 7.40 68 7.20 60 2.08 57 10.50 |AW[ 29 420 |Aw| 8 3.08 |AW| 14
13 | B2s) | BE B 2 | B 7.1 |AW| 25 9.60 29 9.20 24 2.13 48 10.65 |AW[ 27 434 |Aw| 23 256 |AwW| 4
14 S A | BEE | 3| B 69 |Aw| 8 8.50 51 6.40 74 2.32 17 10.85 |AW[ 20 432 |Aw| 20 3.03 |Aw| 10
15 3 BH | WAER 1| = 72 |AW| 34 8.00 57 7.50 50 2.34 14 12.05 |AW[ 5 449 |AW| 36 346 |AW| 70
16 =E eI Kty 2 | B 9.2 |AW| 95 7.80 61 6.30 77 1.70 92 6.50 |Aw| 95 61.0 [Aw| 91 414 |AW| 90
17 =S il BA 2| B 7.0 |AW| 16 9.40 30 11.10 10 2.18 40 10.75 |AW[ 22 433 |Aw| 22 332 |Aw| 48
18 Eof | ERE KEE 1 3 75  [AW| 55 7.90 59 7.70 43 2.25 26 10.00 |AW| 51 476 |Aw| 57 340 |AW| 60
19 ENmE | n K 1| B8 78 |AW| 73 7.40 68 7.40 53 2.28 23 10.90 |AwW[ 19 484 |Aw| 61 330 |Aw| 42
20 EHom | =8 ek 1| B8 75 |AW| 55 6.60 81 6.10 79 2.10 52 10.50 |AW[ 29 50.0 |[AW| 71 336 |AW| 53
21 Y | TR 1| B8 76 |AW| 65 7.50 66 5.80 84 1.98 70 9.25 |Aw| 75 470 |AW| 54 338 |AwW| 58
22 ENmE | mF | Hewm 1| B8 7.7 |Aaw| 71 8.30 54 7.10 63 1.97 72 9.40 |AwW| 72 52.0 |AW| 82 348 |AW| 75
23 ENmE | i S 1| B8 7.1 |AW| 25 9.70 27 8.80 27 2.15 46 10.70 |AW[ 24 50.2  |AW| T2 338 |AwW| 58
24 ENFE | W@ K 1| B8 79 |AW| 79 7.50 66 5.60 89 1.98 70 10.10 |AW[ 47 497 |AwW| 69 341 |AW| 62
25 e it | B8 1| B8 80 |AW| 82 7.80 61 5.70 85 2.10 52 827 |Aw| 90 50.2  |AW| T2 330 |Aw| 42
26 e #h wE 1| B8 7.0 |AW| 16 7.00 77 6.00 80 2.28 23 1030 |AW| 37 435 |[Aw| 25 342 |AW| 65
27 e BE % 1| B8 80 |AW| 82 7.10 74 7.00 65 1.80 88 9.45 |AW| 69 503 |[AW| 74 332 |Aw| 48
28 - BIF fhi:s 2| B 75  |AW| 55 7.30 72 6.90 66 2.10 52 1050 |AW[ 29 515 [Aw| 79 354 |AW| 80
29 ey =S EBE 1| B8 78 |AwW| 73 6.60 81 7.70 43 2.10 52 9.60 |Aw| 61 493 [Aw| 65 349 |AW| 77
30 - LT i N 2| B 73 |AW| 46 10.60 | 18 10.80 13 2.12 51 1030 |AW| 37 453 [AwW| 39 316 |AwW| 17
31 - KR e 1| B8 73 |AW| 46 10.60 | 18 8.40 31 2.22 33 1050 |AW[ 29 472 |AW| 55 337 |AW| 56
32 - A &I 1| B8 75  |AW| 55 8.60 48 7.60 46 2.19 39 10.40 |AW| 35 49.7 [AW| 69 316 |AwW| 17
33 - I\ FHL 1| B8 78 |AwW| 73 7.06 76 6.70 69 1.91 80 950 |Aw| 63 476 |AwW| 57 3.06 |Aw| 13
34 - K& fd 1| B8 74 |AW| 52 8.80 41 7.60 46 2.07 59 10.10 |AW| 47 473 |AW| 56 325 |Aw| 30
35 BE | BAR| XF 1| B8 80 |AwW| 82 8.50 51 7.60 46 1.96 74 950 |Aw| 63 515 |Aw| 79 334 |Aw| 50
36 i HI A 1| = 72 |AW| 34 9.70 27 7.80 39 2.13 48 890 |Aw| 84 447 |Aw| 33 326 |Aw| 32
37 BE | KIH i 1| B8 83 |AwW| 92 6.50 85 5.90 81 1.83 85 8.10 |Aw| 92 59.0 [Aw| 89 407 |AW| 87
38 EK = RE 1| B8 77 |Aw| 71 6.00 91 5.30 90 2.02 67 950 |Aw| 63 496 |Aw| 67 329 |Aw| 40
39 foiic B 1| B8 72 |AW| 34 9.15 38 7.10 63 2.18 40 9.40 |AW| 72 493 |Aw| 65 353 [AW| 79
40 b FHIR 1| = 71 |AW| 25 9.90 26 10.05 18 2.22 33 10.00 |AW| 51 467 |Aw| 48 347 |Aw| 74
41 foiic &4 1| B8 80 |AW| 82 5.10 94 6.34 76 1.85 83 890 |Aw| 84 55.1 |[AW| 86 349 |AW| 77
42 b a8 1| B8 81 |AW| 89 6.40 86 7.20 60 1.60 95 8.60 |Aw| 89 569 [Aw| 88 422 |Aw| 91
43 AL | FE FP N 3| B 76 |AW| 65 8.10 56 7.40 53 2.09 56 96 257 |Aw| &
44 Filde | WA LES 2| B 75 |AW| 55 6.14 88 5.70 85 1.93 77 920 |AW| 76 46.0 |Aw| 44 321 |Aw| 24
45 B | I ) 2 | B 7.0 |AW| 16 9.20 35 7.40 53 1.84 84 950 |Aw| 63 426 |Aw| 14 3.05 |Aw| 12
46 KR | #FT AT 2| B 6.9 |Aw| 8 9.96 25 9.60 21 2.15 46 10.25 |AW[ 39 438 |AW| 26 331 |Aw| 44
47 AERERE | Bl B 1| &8 85 |Aw| 94 4.40 95 4.40 95 1.70 92 780 |AW| 94 59.0 |Aw| 89 407 |Aw| 87
48 FARR | BB [EPN 1| = 76 |AW| 65 8.60 48 7.80 39 2.35 11 9.90 |AW| 56 467 |Aw| 48 328 |Aw| 37
49 AR i B 2 | B 7.0 |AW| 16 1020 | 22 8.40 31 2.25 26 1160 |AW[ 7 426 |Aw| 14 316 |Aw| 17
50 BERR | KA — 2| B 6.9 |Aw| 8 8.70 43 9.00 26 2.29 21 1020 |AW| 42 406 |AwW| 3 324 |Aw| 29
51 AR ] =X 2 | B 76 |AW| 65 7.85 60 7.25 59 2.05 64 9.70 |Aw| 57 447 |Aw| 33 3.00 |Aw| 7
52 FERR | B3 w3t 1| = 78 |AwW| 73 7.10 74 5.00 91 2.08 57 9.70 |Aw| 57 482 |AW| 60 329 |Aw| 40
53 ERERE | KT &+ 1| = 78 |Aw| 73 6.10 89 4.70 93 1.90 81 9.55 |Aw| 62 527 |AwW| 84 328 |Aw| 37
54 BRR | B0 PPN 1| = 72 |Aw| 34 7.60 65 7.60 46 2.35 11 10.00 |AW| 51 496 |AW| 67 402 |Aw| 85
55 AR | =@ fc= 1| = 74 |AW| 52 9.30 32 7.90 35 2.13 48 9.70 |Aw| 57 464 |AW| 47 325 |Aw| 30
56 EA 3 i 2| B 6.9 |Aw| 8 11.00 | 13 10.60 14 2.20 35 1020 |AW| 42 422 |Aw| 11 3.03 |Aw| 10
57 EA | BRI 2 1| & 68 |AW| 6 13.90 1 13.20 2 2.42 7 11.40 |AW[ 10 414 |AW| B 346 |AW| 70
58 EA il LIPN 1| = 72 |AW| 34 10.10 | 23 6.50 71 2.43 6 920 |AW| 76 453 |Aw| 39 321 |Aw| 24
59 EA RF i 1| = 72 |Aw| 34 8.70 43 6.90 66 1.93 77 940 |AwW| 72 434 |Aw| 23 404 |AW| 86
60 EA JIR 2 | B 73 |AW| 46 9.20 35 7.20 60 2.20 35 11.10 |AW[ 13 467 |AW| 48 336 |Aw| 53
61 EA =i 1| = 71 |AW| 25 9.40 30 7.90 35 2.30 18 10.70 |AW| 24 458 |Aw| 43 354 |Aw| 80
62 HaL | EK = 1| = 70 |AwW| 16 11.50 6 11.40 6 2.36 10 11.10 |AW[ 13 441 |Aw| 28 328 |Aw| 37
63 HaL | B2H =3 3| B 72 |AW| 34 7.95 58 7.80 39 2.02 67 10.50 |AW| 29 430 |Aw| 19 257 |Aw| &
64 Hal | KE B 1| = 72 |Aw| 34 8.67 47 7.90 35 2.41 8 10.70 |AW| 24 468 |Aw| 52 341 |Aw| 62
65 mal | R | BE® 1| 2 73 |AwW| 51 8.70 43 8.80 27 2.25 26 10.50 |AW| 29 485 |AW| 64 341 |Aw| 62
66 BHaL | =2F | ZMmo| 2 | B 79 |Aw| 79 6.60 81 7.30 58 1.63 94 865 |Aw| 88 50.3 |[AW| 74 319 |Aw| 22
67 BHaL | =R =] 2| B 83 |Aw| 92 11.25 8 11.35 9 1.83 85 820 |Aw| 91 63.1 |Aw| 92 413 |Aw| 89
68 =&AL | IO =3 1| = 78 |Aw| 73 6.40 86 6.80 68 1.78 90 920 |AwW| 76 51.0 |Aw| 78 345 |AW| 69
69 el | BE | 98E 1| = 7.0 |AwW| 16 10.60 | 18 8.80 27 2.26 25 10.60 |AW| 28 429 |Aw| 18 326 |Aw| 32
70 el | 'l LB 1| = 75 |Aw| 55 8.43 53 7.50 50 2.20 35 9.05 |Aw| 82 481 |Aw| 59 323 |Aw| 28
71 E3 KT bl 1| 8 76 |AW| 65 6.70 80 5.70 85 1.95 75 9.20 |Aw| 76 463 |AW| 46 316 |Aw| 17




72 Ex P B 1 E 7.2 AW| 34 6.10 89 6.40 4 2.23 31 10.10 [AW([ 47 442 |AW| 30 3.26  |AwW| 32
73 Bx [im] Rt 1 E 8.1 AW| 89 7.32 71 6.60 70 2.33 15 10.15 |AW| 46 555 [AW| 87 3.42  |AW| 65
74 £2 g HRER 2 E 8.0 AW| 82 9.10 39 7.50 50 177 91 8.10 |AwW| 92

75 EE IR &0 2 5 7.5 AW| 55 4.20 96 4.90 92 1.60 95 9.00 |AwW| 83 46.9 |AwW| 53 320 |[AwW| 23
76 EE LizE) &3t 2 5 7.6 AW| 65 7.20 73 7.40 53 2.06 61 9.10 |Aw| 81 48.4 |AW| 61 3.34 [AW| 50
77 = 3 M e 1 5 7.2 AW| 34 11.10 12 12.10 5 2.18 40 10.80 [AW[ 21 451 |Aw| 37 3.44  [AW| 68
78 EE A = 1 5 7.1 AW| 25 7.40 68 7.90 35 2.16 43 10.00 |[AW| 51 441  |AW| 28 380 [AW| 84
79 PR f% A 2 5 6.9 AW| 8 12.80 3 14.90 1 2.24 30 11.45 |AW[ 8 456 |AW| 42 356 [AW| 83
80 hnttE HE Beh 2 5 7.5 AW| 55 5.90 92 6.50 71 2.06 61 9.47 |AW| 68 46.1  |AwW| 45 3.02 [AW[ 9
81 |sAmEEL| (RE # 2 5 7.2 AW| 34 9.10 39 8.40 31 2.45 4 1142 |AW[ 9 427 |AW| 16 3.09 [AW| 15
82 poti] L) E22) 2 5 6.6 AWE 2 10.65 17 10.40 15 2.33 15 11.35 [AW[ 11 420 |AW| 8 326 [AW| 32
83 poti] HFH FK 2 5 7.0 AW| 16 10.80 14 10.00 19 2.45 4 11.03 |AW| 17 427 |AW| 16 322 |AW| 27
84 Bx EE HE 1 £ 8.0 AW| 82 7.80 61 7.80 39 1.80 88 9.45 |AW| 69 545 [AW| 85 432 |AW| 92
85 #Aide AR [BYN 2 £ 7.3 AW| 46 6.80 78 6.50 71 2.16 43 10.08 |AW| 50 439 |Aw| 27 254 |AW| 3
86 i A f=PN 2 £ 7.0 AW| 16 8.80 41 9.50 22 2.05 64 10.75 |AW| 22 423 |AW| 12 252 |AwW| 1
87 R | NEB &R 2 £ 7.0 AW| 16 8.60 48 7.70 43 2.30 18 11.25 [AW| 12 420 |AW| 8 252 |AwW| 1
88 ] K = 2 £ 6.5 AWl 1 11.50 6 11.00 11 2.29 21 1223 |AWE 3 389 |AW[ 1 3.01 |AwW| 8
89 ] iy = 2 £ 6.7 AW| 4 12.90 2 12.50 4 2.23 31 10.25 |[AW([ 39 404 |AWE 2 331 |AwW| 44
90 ] B4 W& 2 £ 6.9 AW| 8 12.60 5 10.40 15 2.38 9 1222 |AW[ 4 415 |AW| 6 331 |AwW| 44
91 ] BR 1= 2 £ 7.1 AW| 25 12.80 3 11.40 6 2.35 11 11.10 |AwW| 13 453 |AW| 39 3.37 |AW| 56
92 ol | SR 7 2 £ 11.20 9 12.90 - 2.03 66 9.43 |AW| 71

93 i =8 &5 1 = 7.1 AW| 25 11.20 9 11.00 11 1.95 75 1095 |AW| 18 446 |AW| 32 336 |AwW| 53
94 |mosazazrd|  KH BIE 2 = 6.8 AW| 6 11.20 9 9.50 22 2.55 2 1320 |AW[ 1 432 |AW| 20 331 |AwW| 44
95 EN ii]s] FIA 1 = 7.5 AW| 55 8.20 55 8.05 34 2.00 69 10.20 |AW| 42 448 |AW| 35 3.09 |Aw| 15
96 E2dl iy & 1 = 7.3 AW| 46 10.00 24 9.80 20 2.06 61 10.23  |AW([ 41 46.7  |AW| 48 335 |AW| 52
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12. 458 =

O kFA—J)LTRAME

e

TF FER 14 2 i 8t |8 11~30f 31~50f
No. il &5 EAn] S | R 50m [AW| JEfI | MBHET | BRI | MB#&#% | JEAL | IIOEBE | JEGL | SZEEREK |AW| JEGL 300m [AW| JIEfz | 1000m |AW| JEfL
1 IsC | &% e 2 | & 7.7 |Aw| 14 10.95 5 10.95 4 2.10 7 10.55 |AW| & 49.4  [Aw| 11 407 |AW| 35
2 PR | R tuEE 2 | & 83 |AwW| 55 4.65 69 6.25 52 1.75 58 853 |AW| 56 589 |AW| 61 425 |AW| 56
3 e | MBS BE 2 | & 80 |Aw| 34 3.69 71 5.69 60 2.02 18 8.00 [AW| 68 540 [AW| 39 339 |[Aw| 11
4 PR | FER R 2 | & 79 |Aw| 31 7.60 46 6.60 46 1.86 43 9.10 |Aw| 37 50.2  |AW| 14 327 |AwW| 4
5 PR pid Eiek 2 | & 81 |AwW| 45 7.90 37 3.80 70 1.96 23 880 [Aw| 49 51.6 |[AW| 20 3.28 |[AW| 6
6 PR i) i 1| % 81 |Aw| 38 9.70 16 8.70 18 1.92 30 920 |Aw| 33 56.8 |AW| 57 443 |AW| 63
7 PR g EF] 1| % 78 |AW| 24 8.90 24 7.10 39 1.90 32 930 [Aw| 31 53.2  [AwW| 31 3.58 |[AW| 26
8 KINA B CES 2 | & 82 |AwW| 49 7.85 39 9.10 11 1.95 24 920 |Aw| 33 548 |AW| 46 449 |AW| 66
9 KINA %" B 2 | & 9.1 |Aw| 71 7.50 47 7.90 29 1.73 60 860 [AW| 54 64.0 |[AW| 69 424 |AW| 54
10 | BRs) | B = 2 | & 86 |AW| 66 73 72 1.72 62 880 |Aw| 49 55.9 |AW| 54 350 |Aw| 20
11 | R8I | Fh BOH 2 | & 7.8 |Aw| 28 7.70 44 7.60 32 1.66 67 845 |AW| 58 53.6 |AW| 35 416 |AW| 43
12 | ERBIr & FiES 2 | & 7.8 |Aw| 28 8.43 30 5.00 67 1.83 48 9.70 |Aw| 10 51.7  |AwW| 22 405 |Aw| 33
13 | BRsk| @ il 1| % 7.7 |Aw| 14 10.25 | 12 10.90 5 1.86 43 950 [Aw| 21 53.8 |[AW| 36 424 |AW| 54
14 | BR8N | HE F1 2 | & 82 |Aw| 50 8.70 26 7.40 34 1.74 59 9.60 [Aw| 15 50.1 [Aw| 13 331 |Aw| 7
15 S HH HI7E 2 | & 75 |Aw| 4 9.30 21 8.20 24 2.10 7 10.65 |AW| 3 492 |Aw| 9 409 |Aw| 37
16 =E R H 1| % 7.8 |Aw| 23 7.80 41 7.92 28 1.93 29 880 |Aw| 49 60.1 |AW| 64 510 [AW| 69
17 =S i EEL y 1| % 84 |AW| 59 8.55 28 5.60 61 1.85 46 880 |Aw| 49 56.4 |AW| 56 423 |AW| 53
18 =S K ZRF] 2 | & 76 |AW| 7 8.62 27 10.57 6 1.98 19 9.60 [Aw| 15 53.3 |[AwW| 32 421 |AW| 50
19 =S N HE 1| % 9.1 |AwW| T2 6.47 62 6.12 55 1.38 72 810 [AW| 66 708 |[Aw| 70 452 |Aw| 67
20 =S £ BE 1| % 83 |AW| 56 8.50 29 6.80 43 1.83 48 9.80 [Aw| 8 51.8 [AwW| 23 415 |AW| 42
21 ENmE | &0 BE 1| % 82 |Aw| 50 7.85 39 7.20 38 1.80 53 890 [Aw| 44 55.0 |AW| 48 354 |AW| 24
22 ENE | AR EE 1| % 82 |Aw| 50 6.60 58 5.60 61 1.90 32 890 [AwW| 44 52.3  |AwW| 24 401 |AW| 29
23 WE St =) 2 | & 7.7 |Aw| 13 8.30 33 7.50 33 2.08 13 935 [Aw| 30 489 |Aw| 8 338 |Aw| 10
24 WE HE i 2 | & 7.7 |Aw| 14 7.80 41 8.53 21 1.77 57 9.40 |AW| 26 493 |[Aw| 10 347 |Aw| 18
25 WE Fam D 1| % 82 |Aw| 48 6.00 66 6.40 49 1.88 39 8.00 [Aw| 68 53.8 [Aw| 37 417 |AW| 45
26 R A HhY 1| % 85 |AwW| 64 6.60 58 7.40 34 1.68 65 9.00 [Aw| 41 548 |AW| 46 354 |AW| 24
27 R A i3 1| % 87 |AW| 69 6.08 65 6.10 56 1.80 53 785 |[Aw| 71 61.4 |[AW| 66 425 |AW| 56
28 R piil (% 1| % 82 |Aw| 50 7.00 55 4.30 69 1.67 66 840 [Aw| 59 543 [Aw| 41 345 |AW| 15
29 - =2 B3 1| % 80 |AwW| 37 6.20 63 5.30 64 1.72 62 890 [AW| 44 53.1 [AW| 30 344 |AW| 13
30 b0} A¥ FIF 1| % 7.8 |AwW| 30 7.97 36 7.80 30 1.89 36 810 [AW| 66 53.8 [AW| 37 419 |AW| 47
31 i) =S Liun=z) 1| % 79 |Aw| 32 7.78 43 7.95 27 1.90 32 830 [Aw| 61 544 [AW| 42 402 |Aw| 31
32 i) [ 35 1| % 78 |AwW| 24 8.40 31 6.70 44 1.90 32 9.60 [Aw| 15 51.6 |[Aw| 21 346 |AW| 17
33 b0} il [ 1| % 87 |AwW| 68 7.40 50 6.50 48 1.83 48 890 [AwW| 44 612 |AW| 65 430 |AW| 60
34 01} 2kl B 1| % 80 |AwW| 35 8.30 33 7.40 34 1.87 41 950 [Aw| 21 552 |AW| 49 420 |AW| 49
35 ALl | B | #0Y 2 | x 81 |AwW| 46 6.68 57 5.75 59 1.95 24 830 [Aw| 61 523 [AW| 24 339 [Aw| 11
36 AL | T DE 2 | & 88 |AW| 70 6.60 58 5.10 65 1.57 70 830 [Aw| 61 53.0 [Aw| 28 335 [Aw| 8
37 AR | BB B 2 | % 81 |Aw| 38 9.10 23 8.80 15 1.87 41 930 [Aw| 31 525 |[AW| 26 405 |[Aw| 33
38 FERER | KT ES 1| % 84 |AW| 59 7.10 53 6.10 56 1.65 68 825 [AW| 65 547 |[AW| 44 351 |Aw| 22
39 | [ 2 | & 78 |AW| 22 9.39 20 9.28 10 1.95 24 9.80 [Aw| 8 484 [AW[ T 335 [Aw| 8
40 FERERE | ML | REH 1| % 79 |Aw| 33 6.20 63 7.05 42 1.95 24 9.00 [Aw| 41 533 [Aw| 32 402 |Aw| 31
41 FERERE | B | Bxx | 2 | & 83 |Aw| 58 7.69 45 5.80 58 1.84 47 840 [AW| 59 56.0 |AW| 55 351 |Aw| 22
42 FERER | FHE HE 2 | & 78 |AW| 24 11.20 4 10.10 8 1.98 19 9.70  [Aw| 10 51.0 [Aw| 18 348 |[AW| 19
43 %R | LT L3 1| % 83 |Aw| 54 7.10 53 6.30 51 1.78 55 850 |Aw| 57 639 [Aw| 68 448 |AW| 65
44 BEE | X0 £S5 1| % 7.7 |AwW| 19 5.70 67 6.38 50 1.82 52 920 |Aw| 33 53.0 |Aw| 29 414 |AW| 40
45 FERR | BE | @Ex 1| % 84 |AW| 59 7.50 47 6.20 54 1.78 55 860 |Aw| 54 557 |Aw| 51 429 |Aw| 59
46 EA SN £S5 1| % 78  |AwW| 24 9.30 21 6.65 45 1.63 69 920 |Aw| 33 506 |AW| 17 422 |AW| 52
47 EA == e 1| % 78  |AwW| 21 5.30 68 5.05 66 2.09 12 9.70 |Aw| 10 547 |AW| 44 425 |AW| 56
48 EA 8K %A 1| % 81 |Aw| 38 6.60 58 7.10 39 1.98 19 950 |Aw| 21 526 |AW| 27 401 |[AW| 29
49 Fit FEE £ 2 | & 7.7 |Aw| 14 8.40 31 7.35 37 2.15 2 9.40 |AW| 26 552 |AW| 50 414 |AW| 40
50 m=al | KR D 2 | & 74 |AWf 3 10.80 7 13.00 3 2.23 1 9.70 |Aw| 10 470 [AW| 4 320 [Aw] 2
51 =&AL | 2/ HE 1| % 82 |AwW| 47 7.15 52 6.60 46 1.94 28 8.00 [AW| 68 541 |AW| 40 350 |[Aw| 20
52 =&AWL | HO | ZRERD 1| % 83 |AwW| 56 9.90 15 8.87 14 1.98 19 9.40 |AW| 26 559 |Aw| 53 417 |Aw| 45
53 =&AL | BE % 1| % 84 |AW| 59 8.10 35 8.00 26 1.83 48 870 |Aw| 53 57.8 |AW| 60 416 |AW| 43
54 | yREE| BR | TRF 1| % 7.7 |Aw| 20 7.50 47 7.80 30 2.11 6 830 |Aw| 61 545 |AwW| 43 436 |AW| 62
55 E% iR FF] 1| % 85 |Aw| 63 3.80 70 3.60 71 1.70 64 890 |AW| 44 569 |AwW| 58 359 |Aw| 27
56 E% 55 R 1| % 76 |Aw| 8 7.00 55 4.75 68 1.89 36 9.10 |Aw| 37 461 |AwW| 2 344 [AW| 13
57 E% L s:4 1| % 86 |AwW| 67 3.42 72 9.10 11 1.54 71 9.00 |Aw| 41 638 |Aw| 67 445 |AW| 64
58 ] ES 22 2 | & 81 |Aw| 38 9.50 18 5.60 61 1.86 43 9.60 |Aw| 15 535 |AwW| 34 411 |Aw| 38
59 ] It 53 2 | & 80 |AwW| 35 7.20 51 7.10 39 1.88 39 9.40 |AW| 26 59.8 |AW| 63 419 |AW| 47
60 =) hE = 2 | & 85 |AwW| 64 9.70 16 8.40 23 1.73 60 9.10 |Aw| 37 59.2  |AW| 62 430 |AW| 60
61 FIAMR | KE ] 1| % 81 |Aw| 38 9.50 18 8.20 24 2.05 15 945 [AW| 24
62 FIAR | BEE R 2 | & 73 |Aw| 1 12.80 2 13.50 2 2.10 7 72 458 |Aw| 1
63 PR | @T T 2 | & 76 |Aw| 8 7.86 38 8.45 22 1.92 30 9.05 |AW| 40 49.7  |Aw| 12 322 |Aaw| 3
64 PER | BB 1L 1 % 75 |AW| 4 10.95 5 8.75 17 2.10 7 10.17 |AW| 6 50.2  |AW| 14 407 |Aw| 35
65 R | FE L 1| % 76 |Aw| 8 1011 | 13 8.70 18 2.08 13 9.60 |Aw| 15
66 FE Bk | 29 2 | & 81 |Aw| 38 10.70 9 9.70 9 1.89 36 9.64 |AW| 14 55.7 |AW| 51 421 |Aw| 50
67 YRR | kE CES 1| % 75  |Aw| 4 10.60 | 10 8.70 18 2.15 2 10.65 |AW[ 3 471 |AW| 6 327 |[AwW| 4
68 XN | 2R f:0) 2 | & 7.7 |Aw| 14 10.74 8 10.20 7 2.04 17 10.82 |AW| 1 51.5 |Aw| 19 413 |Aw| 39
69 RINA | 45T ES 2 | & 81 |Aw| 38 13.70 1 16.10 1 2.12 5 1071 |AW[E 2 57.7 |AW| 59 5.08 |AW| 68
70 F=AL | MR | <B5 2 | & 76 |Aw| 8 8.75 25 6.23 53 2.05 15 9.43 |Aw| 25 50.2  [AW| 14 316 |Aw| 1
71 AL | BE X 2 | & 73 |Aw| 1 11.30 3 8.90 13 2.15 2 10.00 |AW| 7 464  |AW[ 3 345 |Aw| 15
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R3.12.4 HBHS50m

No. IR 45 2E | FE| 45 50m AW | JE i No. i 2T B e 50m AW | B i
1 H=A &K = 2| B 6.5 AW 1 1 FIAIR PaE FRR 2 | & 73 AW 1
2 BEREI Ed X 2| &8 6.6 AW 2 2 X T B 2 | & 73 AW 1
3 ki) kil (2] 2| &8 6.6 AW 2 3 X K O 2 | & 7.4 AW 3
4 FHEbE BRE Het 2| &8 6.7 AW 4 PR XE e 1| % 75 AW

5 H=A LT e 2| &8 6.7 AW 5 PR R L 1| % 75 AW

6 EA BT EPN 1 2 6.8 AW 6 EiE HH HTAE P EES 75 AW

7 meorasazrd| ATH Ei 2| B 6.8 AW 7 EL] K il P EES 7.6 AW

8 FHEbE IR T 2 | B 6.9 AW 8 L K f5 2 | & 7.6 AW

9 S K B 3| B 6.9 AW 9 PR hE LS 1| % 7.6 AW

10 FRE A —B 2 5 6.9 AW 10 EAL /IfTT <nb 2 % 7.6 AW

11 FEbr il 7 2 | B 6.9 AW 11 PR 87T T 2 | & 7.6 AW

12 KR #7T AT 2 | B 6.9 AW 12 2% ) ok 1| % 7.6 AW

13 EIN ek b3 2 | B 6.9 AW 13 e S i P EES 7.7 AW 13
14 AL EES & 2 | B 6.9 AW 14 KINA = £ P EES 7.7 AW 14
15 PR % X3 2 | B 6.9 AW 15 BRE) il i 1| % 7.7 AW 14
16 E # vE 1 E 7.0 AW 16 16 Isc A A P EES 7.7 AW 14
17 AL B S 1 2 7.0 AW 16 17 Tt FEF E3 P EES 7.7 AW 14
18 I RE BEE 1 2 7.0 AW 16 18 e = i P EES 7.7 AW 14
19 Ailide )I1%% ) 2 | B 7.0 AW 16 19 FERER KO E3 1| % 7.7 AW 19
20 [EESE ] BL5E 2| B 7.0 AW 16 20 EYE| RR FRF 1| % 7.7 AW 20
21 z% Pk BA 2 | B 7.0 AW 16 21 EA ES=) LS 1| % 7.8 AW 21
22 foti M BN 2 | B 7.0 AW 16 22 PR il 55 P EES 7.8 AW 22
23 f Efy) 2K 2 | B 7.0 AW 16 23 EL] HE [2X5) 1| % 7.8 AW 23
24 HEfk | NER &R 2 | B 7.0 AW 16 24 TR BT EE 2 | % 7.8 AW 24
25 E5/E i K 1 [ 7.1 AW 25 25 PR a il 1| % 7.8 AW 24
26 EIN =i 1 1 [ 7.1 AW 25 26 EA H EE 1| % 7.8 AW 24
27 RSN | BEA BEK 2 | B 7.1 AW 25 27 e 7 EHE 1| % 7.8 AW 24
28 fotii) HOR FIR 1 E 7.1 AW 25 28 BRE)| HL BOH P EES 7.8 AW 28
29 e &5 RE 1 E 7.1 AW 25 29 BREI & Mz 2 | % 7.8 AW 28
30 BERE)| XE £ 2 C 7.1 AW 25 30 e B #F 1| % 7.8 AW 30
31 ] =8 1858 1 C 7.1 AW 25 31 PR FRE 3B 2 | & 79 AW 31
32 2% 1T ok 1 C 7.1 AW 25 32 e =18 ] 1| % 79 AW 32
33 HAL BR = 2 C 7.1 AW 25 33 PR il R 1| % 79 AW 33
34 EA R e 1 C 7.2 AW 34 34 PR | MNEE oS 2 | & 8.0 AW 34
35 poic] s BE 1 C 7.2 AW 34 35 &l e 1EF 2 | & 8.0 AW 35
36 oy S =48 1 C 7.2 AW 34 36 e =k E 1| % 8.0 AW 35
37 2% PIAS Bl 1 C 7.2 AW 34 37 i HE CES 1| % 8.0 AW 37
38 EA 0] X 1 C 7.2 AW 34 38 PR S B P EES 8.1 AW 38
39 bR He HA 1 C 7.2 AW 34 39 El A5 =12 2 | & 8.1 AW 38
40 S B IRAEB 1 ) 7.2 AW 34 40 KINA TT e 2| & 8.1 AW 38
41 AL RE FHK 1 E 7.2 AW 34 41 EA K 3 1| % 8.1 AW 38
42 A 28 RE 3 ] 72 AW 34 42 FIAR AH TR 1 Z 8.1 AW 38
43 [EEY D i 1 E 7.2 AW 34 43 A S FIONES 2| & 8.1 AW 38
44 2% EE k4 1 ) 7.2 AW 34 44 PR &l BT 1| % 8.1 AW 38
45 |sAmmEer  RE % 2| B 7.2 AW 34 45 fPEERE & 0% 2| & 8.1 AW 45
46 sy LT EEPS 2 | 5 7.3 AW 46 46 At 52 HD Y 2 | & 8.1 AW 46
47 EA IR E2X0) 2 | 5 7.3 AW 46 47 = 2 ThE 1| % 8.2 AW 47
48 sy KR i) 1 E 7.3 AW 46 48 e A DER 1| % 8.2 AW 48
49 Aldt AR DA 2 5 7.3 AW 46 49 KINA R CEN 2 s 8.2 AW 49
50 E2d) W ] 1 5 7.3 AW 46 50 E5 e AR £ 1 s 8.2 AW 50
51 AW AR BHAEE 1 5 7.3 AW 51 51 BRI W EIE 2 s 8.2 AW 50
52 PR E-d=:) jo3=3 1 5 7.4 AW 52 52 E5 7 a0 R 1 s 8.2 AW 50
53 FEER [EZN Fak 2 5 7.4 AW 52 53 353 Pk f(%:3 1 s 8.2 AW 50
54 BE K& H 1 ) 7.4 AW 52 54 PR i 2 1| % 8.3 AW 54
55 EX- RS jiy 2 5 7.5 AW 55 55 1RER Il i #e 2 = 8.3 AW 55
56 E 5 = Bz 1 5 7.5 AW 55 56 £ LAt [EES 1 = 8.3 AW 56
57 AW & BS54 1 5 7.5 AW 55 57 B HA FRAR O 1 = 8.3 AW 56
58 it ARE - £ 2 5 7.5 AW 55 58 PR =k HRE 2 = 8.3 AW 58
59 FERT ]RIT B} 2 5 7.5 AW 55 59 sl 28 il 1 s 8.4 AW 59
60 E5 BRE KEE 1 5 7.5 AW 55 60 PR K EXG 1 s 8.4 AW 59
61 EX= s &2 1 5 7.5 AW 55 61 XRE Jicdas) BE 1 s 8.4 AW 59
62 2% R &0 2 5 7.5 AW 55 62 PR W EilieES 1 s 8.4 AW 59
63 fnttEA a2 Btk 2 5 7.5 AW 55 63 2% iR EH] 1 = 8.5 AW 63
64 E2d) ify] FIA 1 5 7.5 AW 55 64 e AN HnY 1 = 8.5 AW 64
65 E5 T & 1 5 7.6 AW 65 65 =] R == 2 = 8.5 AW 64
66 Aldt TR BR 3 5 7.6 AW 65 66 BRS) FFAT kS 2 = 8.6 AW 66
67 E2d) KT piie) 1 5 7.6 AW 65 67 2% (L] D3 1 = 8.6 AW 67
68 PR 5] EVN 2 5 7.6 AW 65 68 boic) il BEx 1 s 8.7 AW 68
69 PR T BX 1 5 7.6 AW 65 69 e it biink: 1 = 8.7 AW 69
70 [=£3 B &2 2 5 7.6 AW 65 70 At Bt DE 2 k-4 8.8 AW 70
71 [EpaNea) HE g5 1 ] 77 AW 71 71 KA W B 2 = 9.1 AW 71
72 K S RE 1 ] 77 AW 71 72 EEH NE g 1 = 9.1 AW 72
73 EX) =i EE 1 ] 7.8 AW 73 73

74 E5 jii]s] BEK 1 ] 7.8 AW 73 74

75 Al panm| =3} 1 ] 7.8 AW 73 75

76 EZX) J\I = 1 ] 7.8 AW 73 76

77 PR KIF £+ 1 ] 7.8 AW 73 77

78 FRER B #at 1 ] 7.8 AW 73 78

79 FER EH BA 1 ) 7.9 AW 79 79




80 E5 HEH KA 1 E:] 7.9 AW 79 80
81 AW 2T ZHERR 2 E:] 7.9 AW 79 81
82 e Ay BB 1 E:] 8.0 AW 82 82
83 e B # 1 E:] 8.0 AW 82 83
84 PR L fifLsE 1 3 8.0 AW 82 84
85 = Lt HRER 2 E:] 8.0 AW 82 85
86 ot bk ok 1 E:] 8.0 AW 82 86
87 = AR s 1 E:] 8.0 AW 82 87
88 = i R 1 3 8.0 AW 82 88
89 pot] ik Rk 1 E:] 8.1 AW 89 89
90 G EiE HESR 1 E:] 8.1 AW 89 90
91 = = it 1 E:] 8.1 AW 89 91
92 FEab =1 =% 2 E:] 8.3 AW 92 92
93 = BILE 2 1 3 8.3 AW 92 93
94 [EEJE b | 1 3 8.5 AW 94 94
95 R L] Kb 2 3 9.2 AW 95 95




R3.12.4 HB& MBAG

RF

No. B 45 X FE | MR MBH & g i No. B 2T kil F =3 MBI | M i
1 EA BT ESN 1 E 13.90 1 1 KINA T B 2 ES 13.70 1
2 F=AL LT FE 2 2 12.90 2 2 FIAR P i3S 2 ES 12.80 2
3 FEEbr W% EXT) 2 2 12.80 3 3 HA T B 2 ES 11.30 3
4 H=AL ER = 2 2 12.80 3 4 BT BT ®mE 2 ES 11.20
5 F=A EES W& 2 2 12.60 5 Isc BF A 2 ES 10.95
6 F=AL B BH 1 2 11.50 6 PR R AL 1 ES 10.95
7 H=AL &K = 2 E 11.50 7 HA K Ol 2 ES 10.80
8 H=A =W = 2 2 11.25 8 KINA =R i 2 ES 10.74
9 ] =8 1850 1 2 11.20 9 i [ LS 2 ES 10.70
10 meosazazre [ AW B/ 2 E 11.20 10 PRI KE [CES 1 ES 10.60
11 X el 7 2 E 11.20 11 ol 1A HL) 2 ES 10.50 11
12 2% A % 1 2 11.10 12 12 BRSI ;2] @ 1 ES 10.25 12
13 EIN {ERE fray:: 2 £ 11.00 13 13 1FER chee I 1 = 10.11 13
14 FEbr RE At 2 2 10.80 14 14 245 EK il 2 ES 10.00 14
15 FEbr il 7 2 2 10.80 14 15 o =} TRARO 1 ES 9.90 15
16 WA I FX 2 L 10.80 14 16 PR ] Bt 1 S 9.70 16
17 bodc] A &7 2 2 10.65 17 17 ;2] FE —H 2 ES 9.70 16
18 X RE BEE 1 2 10.60 18 18 FIAIR KH I 1 ES 9.50 18
19 = LT ALK 2 2 10.60 18 19 ﬁ A5 =52 2 ES 9.50 18
20 £ KR gl 1 [ 10.60 18 20 EEESES il 5 2 ES 9.39 20
21 e JIE #HE 2 E 10.30 21 21 EA =i £ 1 ES 9.30 21
22 [EESE 3] BL5E 2 E 10.20 22 22 ES & 1% 2 ES 9.30 21
23 EIN 0] R 1 [ 10.10 23 23 EEESES S B 2 ES 9.10 23
24 3] LT i 1 E 10.00 24 24 PR g il 1 ES 8.90 24
25 KR #T AT 2 [ 9.96 25 25 AW ARTE | <BD 2 ES 8.75 25
26 fotiic HOR FIR 1 E 9.90 26 26 BREI e e 2 ES 8.70 26
27 5 i =1 1 [ 9.70 27 27 EL] =K sl 2 ES 8.62 27
28 E iy K 1 [ 9.70 27 28 EL] f nE 1 ES 8.55 28
29 BREI 8H BEX 2 [ 9.60 29 29 E1] EAY BR 1 ES 8.50 29
30 EA a=iE ¥ 1 C 9.40 30 30 BREI & Mz 2 ES 8.43 30
31 ET] Pk BA 2 C 9.40 30 31 Tttt (k5] ER 2 ES 8.40 31
32 PSR FMH 1EH 1 C 9.30 32 32 WA [i] EHE 1 ES 8.40 31
33 s EAR bt 2 C 9.30 32 33 e S il 2 ES 8.30 33
34 s RTT sl 2 C 9.25 34 34 o] =k EES 1 ES 8.30 33
35 EA JIIR B 2 5 9.20 35 35 R 28 % 1 = 8.10 35
36 Aldt JIE ) 2 5 9.20 35 36 potii] H¥ HF 1 = 7.97 36
37 a3 He kil 1 C 9.20 35 37 fPEERT B S0F 2 ES 7.90 37
38 WA FE B 1 5 9.15 38 38 &R BT FoH 2 =g 7.86 38
39 2% =4 HRER 2 5 9.10 39 39 KA R [CES 2 = 7.85 39
40 |BAFAEEE RE B 2 ) 9.10 39 40 E9 a0 BE 1 ES 7.85 39
41 sy K& HE 1 E 8.80 41 41 e = Fiax 2 ES 7.80 41
42 fe iy B 2 ) 8.80 41 42 £% HE & 1 ES 7.80 41
43 [EEEY RA —B% 2 E 8.70 43 43 5% =iE = 1 ES 7.78 43
44 AL IR BAHE 1 ) 8.70 43 44 BB = BOH 2 ES 7.70 44
45 RS E3 B4 2 E 8.70 43 45 PR =L HRE 2 ES 7.69 45
46 EA R pie 1 ) 8.70 43 46 R HRE B 2 ES 7.60 46
47 AL RE FHK 1 E 8.67 47 47 PiE¥E RIR FRF 1 ES 7.50 47
48 1) T &1 1 E 8.60 48 48 PR BB BHE 1 ES 7.50 47
49 PR T BX 1 5 8.60 48 49 KINA " &5 2 = 7.50 47
50 wihisk NEER joy3 2 5 8.60 48 50 i S 1 = 7.40 50
51 i) AR5k BEER 3 5 8.50 51 51 Ele =gzl 2 = 7.20 51
52 EX- AR HE 1 5 8.50 51 52 = HE 1 = 7.15 52
53 AW & £S5 1 5 8.43 53 53 KIF EXG 1 = 7.10 53
54 E 5 e B2 1 5 8.30 54 54 bt 2 1 = 7.10 53
55 E2| A FIA 1 5 8.20 55 55 e F(F:3 1 = 7.00 55
56 Aldt TR [N 3 5 8.10 56 56 S Eo 1 = 7.00 55
57 ES: 3 EBH TRARER 1 5 8.00 57 57 At Livs) HD Y 2 = 6.68 57
58 AW 2 RE 3 5 7.95 58 58 353 Eoila] HhY 1 = 6.60 58
59 E5 BRE KEE 1 5 7.90 59 59 EA ik ¥R 1 X 6.60 58
60 PR 5] ETN 2 5 7.85 60 60 E5 e AR EE 1 X 6.60 58
61 ME s B 1 5 7.80 61 61 At BT DE 2 X 6.60 58
62 Eg B Kb 2 5 7.80 61 62 EH NE] R 1 = 6.47 62
63 2% =3 hE 1 5 7.80 61 63 FEERIR #iah ES S 1 = 6.20 63
64 REEBR & RE 1 E: 7.75 64 64 R == [CES 1 ES 6.20 63
65 PR E=2iN RR 1 5 7.60 65 65 e Y bk 1 X 6.08 65
66 E5 T & 1 5 7.50 66 66 e 2] DR 1 X 6.00 66
67 E5 #H K 1 5 7.50 66 67 FEERIR kA =& 1 X 5.70 67
68 [Eapane=] filjm| B 1 5 7.40 68 68 EA EHE poES 1 X 5.30 68
69 BRI KE =) 2 5 7.40 68 69 1RER Il T 2 ko4 4.65 69
70 £2x sl EE= 1 5 7.40 68 70 2% iR EH] 1 ko4 3.80 70
71 2% i1ml i 1 ] 7.32 71 71 R NEE =k 2 = 3.69 71
72 EX) A1 et 2 3B 7.30 72 72 2% [8LE) [P 1 S 3.42 72
73 2% &t 183} 2 2 7.20 73 73
74 PR Bt it 1 ] 7.10 74 74
75 e =R # 1 ] 7.10 74 75
76 Ex=y T\ F 1 5 7.06 76 76
77 e L BE 1 ] 7.00 77 77
78 FER T i3 1 5 6.80 78 78
79 #ldt AR DA 2 ) 6.80 78 79




80 EN KT P 1 E:] 6.70 80 80
81 AW =T ZHERR 2 E:] 6.60 81 81
82 B =5 Bz 1 5 6.60 81 82
83 B i 25 1 E:] 6.60 81 83
84 G =] 1 5 6.60 81 84
85 = 1 E:] 6.50 85 85
86 AL =2 1 E:] 6.40 86 86
87 ot ] Rk 1 5 6.40 86 87
88 ldt Nz LES 2 5 6.14 88 88
89 = PR il 1 E:] 6.10 89 89
90 [EEJE KIF £+ 1 E:] 6.10 89 90
91 B = RE 1 5 6.00 91 91
92 fnttEH HE Bith 2 E:] 5.90 92 92
93 G EH A 1 3 5.20 93 93
94 pot] i ok 1 5 5.10 94 94
95 FARE b | 1 3 4.40 95 95
96 2% R & 2 E:] 4.20 96 96




R3.12.4 HBE MB# XRF

No. IR 45 X FE | MR MBi& % IE i No. B 2T kil F =3 MB##% | B L
1 FEEb W% EXT) 2 E 14.90 1 1 KINA T B 2 ES 16.10 1
2 EA BT ESN 1 2 13.20 2 2 FIAR P i3S 2 ES 13.50 2
3 H=A SRR 7 2 E 12.90 3 3 HA K Ol 2 ES 13.00 3
4 H=AL LT e 2 2 12.50 4 Isc BF A 2 ES 10.95
5 2% pi) % 1 2 12.10 5 BERE) El & 1 ES 10.90
6 FEEbr BE Het 2 2 11.40 6 EL] K 2 ES 10.57
7 H=AL EI S 1 E 11.40 7 KA =R 2 ES 10.20
8 H=A ER = 2 2 11.40 8 BT BT 2 ES 10.10
9 F=A =W 12 2 2 11.35 9 i Bk 2 ES 9.70
10 (35 PRk BA 2 2 11.10 10 ES il 2 ES 9.28
11 ] =8 1559 1 E 11.00 11 11 AR 53 2 ES 9.10 11
12 I K = 2 E 11.00 11 12 £ 3 (ke 1 ES 9.10 11
13 = LT ALK 2 2 10.80 13 13 el 324 2 ES 8.90 13
14 EIN ek b3 2 2 10.60 14 14 H=AWL =} 1 ES 8.87 14
15 bt A &7 2 2 10.40 15 15 ES £ 2 ES 8.80 15
16 I EES W& 2 2 10.40 15 16 245 B 2 ES 8.80 15
17 BEREI Ed X 2 2 10.10 17 17 PR R 1 ES 8.75 17
18 ot R FI 1 E 10.05 18 18 PR &l 1 ES 8.70 18
19 ot M EN 2 2 10.00 19 19 EES XE 1 ES 8.70 18
20 3] LT i 1 E 9.80 20 20 PR hE 1 ES 8.70 18
21 KR #T AT 2 [ 9.60 21 21 e = 2 ES 8.53 21
22 fe Efy) 2K 2 E 9.50 22 22 PR &7t 2 ES 8.45 22
23 meoxazazre| A B 2 E 9.50 22 23 2] FE 2 ES 8.40 23
24 BREI 8H BEK 2 [ 9.20 24 24 e & 2 ES 8.20 24
25 e A kil 1 E 9.10 25 25 FIAAR KH 1 ES 8.20 24
26 EESE A —mk 2 E 9.00 26 26 EEENIN] ] " 1 ES 8.00 26
27 AL RE MEE 1 [ 8.80 27 27 L] =i% I 1 ES 7.95 27
28 AL AR PAY 1 [ 8.80 27 28 EL] HE D& 1 ES 7.92 28
29 E I K 1 E 8.80 27 29 AR 58 B 2 ES 7.90 29
30 s EAR ot 2 C 8.60 30 30 WA B #F 1 ES 7.80 30
31 PSR 3 55 2 C 8.40 31 31 PEFE RH FRF 1 ES 7.80 30
32 ) IR a2 1 C 8.40 31 32 BREI & 1D H 2 ES 7.60 32
33 |®:AHAEEE (RE o 2 C 8.40 31 33 e S il 2 ES 7.50 33
34 E3] fiT=] FIA 1 C 8.05 34 34 e W HHY 1 ES 7.40 34
35 EA a=iE ¥ 1 C 7.90 35 35 BREI e e 2 ES 7.40 34
36 PSR FMH 1EH 1 C 7.90 35 36 o] =k EES 1 ES 7.40 34
37 HEAL RE FHK 1 C 7.90 35 37 e (k5] ER 2 ES 7.35 37
38 2% 1T ok 1 C 7.90 35 38 ] #0 BEE 1 ES 7.20 38
39 HEAL 2% RE 3 C 7.80 39 39 fPEEBT g EF] 1 ES 7.10 39
40 sy S =48 1 ) 7.80 39 40 EA K %A 1 ES 7.10 39
41 [ESE S HA 1 E 7.80 39 41 5] e R3] 2 ES 7.10 39
42 2% 2 [z 1 ) 7.80 39 42 PR b ETE 1 ES 7.05 42
43 EoE HRE K 1 E 7.70 43 43 £% A R 1 ES 6.80 43
44 sy i EE 1 ) 7.70 43 44 5% i EfE 1 ES 6.70 44
45 ik NERK 18R 2 E 7.70 43 45 EA i £ 1 ES 6.65 45
46 [EESEY I RA 1 ) 7.60 46 46 SN 2 ThRE 1 ES 6.60 46
47 1) it 1§12 1 E 7.60 46 47 R HRE B 2 ES 6.60 46
48 sy K& HE 1 E 7.60 46 48 5% il [ES 1 ES 6.50 48
49 BE AR K& 1 ) 7.60 46 49 23 MH FS 1 % 6.40 49
50 AL & g3 1 ) 7.50 50 50 PR KO B 1 ES 6.38 50
51 2% B2 A 2 ) 7.50 50 51 PR i 2 1 ES 6.30 51
52 EiE EH IRAER 1 ) 7.50 50 52 R Il e 2 % 6.25 52
53 B if]s] K 1 ) 7.40 53 53 #=al ARTE | <BD 2 % 6.23 53
54 REEBR RT S 2 ) 7.40 53 54 PR BB E:XES 1 % 6.20 54
55 Ailide I ) 2 ) 7.40 53 55 £% NE 8 1 % 6.12 55
56 2t T EX 3 ) 7.40 53 56 e hif FiHp 1 ES 6.10 56
57 2% e &3} 2 ) 7.40 53 57 PR AT SR 1 ES 6.10 56
58 AL 2T ZHESR 2 ) 7.30 58 58 PR =L HRE 2 ES 5.80 58
59 IR ] EZN 2 E: 7.25 59 59 At [52] HDY 2 S 5.75 59
60 EA NI Bt 2 E: 7.20 60 60 FRER NEER o 2 ES 5.69 60
61 BRSI RE *E 2 E: 7.20 60 61 H9 7 AR EE 1 ES 5.60 61
62 i) ikl (53 1 E: 7.20 60 62 Ed] s BE 1 ES 5.60 61
63 i) 5 BE 1 E: 7.10 63 63 2] A 2 ES 5.60 61
64 E5E HEF #2355 1 E: 7.10 63 64 R TE 1 ES 5.30 64
65 WE & #® 1 E: 7.00 65 65 At BT DE 2 S 5.10 65
66 EA R 5 3} 1 E 6.90 66 66 EA HE e 1 ES 5.05 66
67 ) [IRa je 2 E: 6.90 66 67 BREI & M= 2 ES 5.00 67
68 AL pis) =3} 1 E 6.80 68 68 2% a5 BR 1 ES 4.75 68
69 = I\ FH 1 E 6.70 69 69 e e (%S 1 ES 4.30 69
70 2% B0 Rt 1 E 6.60 70 70 fRERR E o 2 ES 3.80 70
71 EIN il A 1 E 6.50 71 71 2% iR ] 1 ES 3.60 71
72 #Aide AR DA 2 5 6.50 71 72
73 Nt a2 Bith 2 ] 6.50 71 73
74 2 A HfE 1 ] 6.40 74 74
75 ES- 5K BEER 3 E 6.40 74 75
76 P Hib & 1 ] 6.34 76 76
77 R B K 2 5 6.30 77 77
78 i 2% 2 2 ] 6.20 78 78
79 BN == =kl 1 2 6.10 79 79




80 e L vE 1 5 6.00 80 80
81 PR JIIR T 2 E:] 5.90 81 81
82 B BOLE & 1 E:] 5.90 81 82
83 PR ilny fifLsE 1 E:] 5.90 81 83
84 ER R ki 1 3 5.80 84 84
85 ldt Nz LES 2 5 5.70 85 85
86 EN 7KIT i) 1 E:] 5.70 85 86
87 G = = 1 E:] 5.70 85 87
88 e A BB 1 5 5.70 85 88
89 ER EH KA 1 E:] 5.60 89 89
90 B Ei RE 1 5 5.30 90 90
91 [EEJE B #a 1 5 5.00 91 91
92 = IR & 2 E:] 4.90 92 92
93 [EEJE KIF £+ 1 3 4.70 93 93
94 G EiE HESR 1 5 4.70 93 94
95 [EEJE b | 1 3 4.40 95 95
96 G [ H BA 1 E:] 4.10 96 96




R3.12.4 BB

AERE WF

No. B 45 £l FE | R o= g i No. B 2T kil F =3 fERk | M
1 BEREI Ed X 2 2 2.64 1 1 B KA Ol 2 ES 2.23 1
2 meozazazre | AW Ei 2 E 2.55 2 2 PR XE [ZES 1 ES 2.15 2
3 FEEbr 2 3 2 2 2.46 3 3 Tt [ ES 2 ES 2.15 2
4 pot] W FK 2 5 2.45 4 Eal R ) 2 ke 2.15 2
5 BARFEE L RE B 2 5 2.45 5 KA T =5 2 =g 2.12
6 EA il [EEN 1 2 2.43 6 HEFE KB FF 1 S 2.11
7 EA BT ESN 1 2 2.42 7 FIAR FaE R 2 ES 2.10
8 H=A KE AR 1 2 2.41 8 PR R AL 1 ES 2.10
9 F=A EES W& 2 2 2.38 9 Isc BF A 2 ES 2.10
10 AL B By 1 2 2.36 10 245 EK il 2 ES 2.10
11 eI S PN 1 2 2.35 11 11 EH # ATAE 2 ES 2.10
12 e I R 1 2 2.35 11 12 EIN e e 1 ES 2.09 12
13 X BR = 2 2 2.35 11 13 e S i 2 ES 2.08 13
14 ES- B PN 1 2 2.34 14 14 1RER thye DB 1 % 2.08 13
15 2% w0 Ritt 1 2 2.33 15 15 FIAIR KH pidi] 1 ES 2.05 15
16 potc] A &7 2 2 2.33 15 16 =AW ARTE | <BbH 2 ES 2.05 15
17 S HvK BERR 3 E 2.32 17 17 Pl = 2 2 ES 2.04 17
18 EIN =3 #E 1 E 2.30 18 18 PR NERR b 2 ES 2.02 18
19 bR RE At 2 2 2.30 18 19 FERER BT EES 2 ES 1.98 19
20 ik V=3 &R 2 [ 2.30 18 20 EL] =K sl 2 ES 1.98 19
21 EESE A — 2 E 2.29 21 21 EA K %A 1 ES 1.98 19
22 AL @K i3 2 E 2.29 21 22 AW =} TRARD 1 ES 1.98 19
23 E il]s] K 1 [ 2.28 23 23 fPEERT B S0 2 ES 1.96 23
24 WE # & 1 E 2.28 23 24 EEESES A e 1 ES 1.95 24
25 AL SRE WEE 1 E 2.26 25 25 AR R CES 2 ES 1.95 24
26 E HERE KR 1 E 2.25 26 26 EEESES il Y 2 ES 1.95 24
27 [EESE 3] BL5E 2 E 2.25 26 27 Al 75 HDY) 2 ES 1.95 24
28 AL AR PAY 1 [ 2.25 26 28 EEENIN] 2 ThRE 1 ES 1.94 28
29 bR NI #E 2 E 2.25 26 29 E1] HE D& 1 ES 1.93 29
30 s % BT 2 C 2.24 30 30 PR &7t ¥ 2 ES 1.92 30
31 2% AR il 1 5 2.23 31 31 fRER ] Bt 1 = 1.92 30
32 H=AL LT Fa 2 C 2.23 31 32 1] =i% I 1 ES 1.90 32
33 £ IR a2 1 C 2.22 33 33 E9 AR EE 1 ES 1.90 32
34 foiic HH R 1 C 2.22 33 34 fPEERT g EF] 1 ES 1.90 32
35 HEAL &l £ 1 C 2.20 35 35 e [i] EHE 1 ES 1.90 32
36 EA ek HE 2 C 2.20 35 36 o] B FF 1 ES 1.89 36
37 EA JIIR B 2 5 2.20 35 37 2% BE EHh 1 =g 1.89 36
38 FER [EZS FH 2 5 2.20 35 38 ki) Bk N> 2 =g 1.89 36
39 £ AT &2 1 5 2.19 39 39 | Ele B3 2 =g 1.88 39
40 ELod Pk A 2 ) 2.18 40 40 e A DER 1 ES 1.88 39
41 b hE BE 1 E 2.18 40 41 o] AR EE S 1 ES 1.87 41
42 2% EE % 1 ) 2.18 40 42 PR 33 B 2 ES 1.87 41
43 s A okl 1 E 2.16 43 43 2] A =12 2 ES 1.86 43
44 2% 1A ok 1 ) 2.16 43 44 BB il & 1 ES 1.86 43
45 2t AR DA 2 E 2.16 43 45 R HRE BB 2 ES 1.86 43
46 KR #T AT 2 ) 2.15 46 46 £% 38 wE 1 ES 1.85 46
47 E I 5] @ 1 E 2.15 46 47 PR =L HRE 2 ES 1.84 47
48 [EESEY FMH 18 H 1 E 2.13 48 48 5% il [ES 1 ES 1.83 48
49 BRSI BH -7 2 5 2.13 48 49 BRSI & FiES 2 = 1.83 48
50 EX- 2] 2 1 5 2.13 48 50 AL 28 % 1 = 1.83 48
51 EX- W B 2 5 2.12 51 51 RE it [EES 1 = 1.83 48
52 E 5 = Bz 1 5 2.10 52 52 FEERIR KO EE 1 = 1.82 52
53 EX- RS JEtt 2 5 2.10 52 53 e RS bk 1 = 1.80 53
54 ®E A B8 1 5 2.10 52 54 E5 e a0 W 1 = 1.80 53
55 EX- 51 =) 1 5 2.10 52 55 PR bt 24E 1 = 1.78 55
56 Aldt TR [N 3 5 2.09 56 56 FEERIR W RS 1 = 1.78 55
57 PR B b 1 5 2.08 57 57 e &= biink 2 = 1.77 57
58 BRSI KE (eSS 2 5 2.08 57 58 RERRT Il i 2 = 1.75 58
59 FERT RTT B} 2 5 2.07 59 59 BREI HE F5 2 X 1.74 59
60 £y KE BZ 1 5 2.07 59 60 | h == 2 X 1.73 60
61 2% B &2 2 5 2.06 61 61 KINA E2'e B 2 X 1.73 60
62 fnttEA a2 Btk 2 5 2.06 61 62 BREI BT = 2 X 1.72 62
63 E2] W ] 1 5 2.06 61 63 £ HE 53 1 X 1.72 62
64 PR 5] EVN 2 5 2.05 64 64 2% iR EH] 1 X 1.70 64
65 S ik BK 2 5 2.05 64 65 e Eoila] HHY 1 X 1.68 65
66 AL SBIRF ,%L 2 5 2.03 66 66 e e Fi%- 1 X 1.67 66
67 B =i RE 1 5 2.02 67 67 BREI &= D 2 X 1.66 67
68 AL 275 RE 3 5 2.02 67 68 PR K EXGi 1 X 1.65 68
69 E2] film| FIA 1 5 2.00 69 69 EA HR ES 1 ko4 1.63 69
70 BN i 7 1 2 1.98 70 70 At T DE 2 ES 1.57 70
71 E5# bi=2] A 1 E 1.98 70 71 E% [ak5 D 1 % 1.54 71
72 PR B8 RE 1 3B 1.97 72 72 % NE & 1 S 1.38 72
73 E5 HE g5 1 ] 1.97 72 73
74 EX) AR T 1 ] 1.96 74 74
75 E2d) KIT b2l 1 5 1.95 75 75
76 ] =2 1858 1 ] 1.95 75 76
77 At Nz LB 2 ] 1.93 77 77
78 EA R P 1 ] 1.93 77 78
79 FER Il i3 1 ) 1.92 79 79




80 B J\I FHL 1 E:] 191 80 80
81 FARE K £+ 1 5 1.90 81 81
82 PR EH BA 1 E:] 1.86 82 82
83 ot i joes 1 5 1.85 83 83
84 ldt JNE ) 2 3 1.84 84 84
85 FHab =1 =% 2 E:] 1.83 85 85
86 = BILE & 1 E:] 1.83 85 86
87 G EiE HESR 1 5 1.83 85 87
88 e 2R # 1 3 1.80 88 88
89 = i R 1 5 1.80 88 89
90 AL s =3 1 E:] 178 90 90
91 2% et HRER 2 E:] 177 91 91
92 [EEJE b ] 1 E:] 1.70 92 92
93 =% B K 2 3 1.70 92 93
94 AL =T ZHERR 2 3 1.63 94 94
95 ot k] ik 1 E 1.60 95 95
96 2% R & 2 E:] 1.60 95 96




R3.12.4 BB

MARN RF

No. B 45 281 | BE| MR | AR | AW| JE I
1 2oeatazs il ik 2| B 13.20 AW 1
2 bR 2# A 2| &8 12.80 AW 2
3 H=HAL &K S 2| B 12.23 AW 3
4 HAL EES W& 2| &8 12.22 AW

5 S EH IEAREB 1| 8 12.05 AW

6 bR IR H#E 2| B 11.80 AW

7 IR 3] b 2 | &8 11.60 AW

8 bR W% EXT) 2| &8 11.45 AW

9 sAFEEL  RE ¥ 2 £ 11.42 AW

10 EIN EfT EPN 1| 8 11.40 AW

11 botii] A &7 2 | B 11.35 AW 11
12 sk | NER &R 2 | B 11.25 AW 12
13 EIN NI i 2 | B 11.10 AW 13
14 bR RE At 2 | B 11.10 AW 13
15 AW B By 1| 8 11.10 AW 13
16 EE BR = PR E] 11.10 AW 13
17 ki) v FK 2 | B 11.03 AW 17
18 ] =8 1559 1| 8 10.95 AW 18
19 e3P il]s] BK 1| 8 10.90 AW 19
20 ES HvK BEB | 3 | B 10.85 AW 20
21 2% A % 1| 8 10.80 AW 21
22 =5 Pk BA 2 | B 10.75 AW 22
23 f Efy) 2K 2 | B 10.75 AW 22
24 EA =2 ¥ 1| 8 10.70 AW 24
25 AW KE AR 1| 8 10.70 AW 24
26 E5 il S 1| 8 10.70 AW 24
27 RSN | BEA BEK 2 | B 10.65 AW 27
28 AL SRE MEE 1| 8 10.60 AW 28
29 BERE)| XE £ 2 | B 10.50 AW 29
30 AL INH I 1 C 10.50 AW 29
31 AL 2% 3| 8 10.50 AW 29
32 ey KRR 1 C 10.50 AW 29
33 E5E =5 1 C 10.50 AW 29
34 ey B 2 | B 10.50 AW 29
35 ey Pt 1 C 10.40 AW 35
36 REEBR He 1 C 10.40 AW 35
37 ey LT 2| B 10.30 AW 37
38 WE # 1 C 10.30 AW 37
39 FARIL #T 2| B 10.25 AW 39
40 =AW LT 2| B 10.25 AW 39
41 E3] LT 1| B8 10.23 Aw| 41
42 REEBR & 1| B8 10.20 Aw| 42
43 EA 1ERE 2| B 10.20 Aw| 42
44 FRIR RA 2| B 10.20 Aw| 42
45 E3] il]u] 1| B8 10.20 Aw| 42
46 2% sl =2 1| B8 10.15 AW ([ 46
47 2% it £ 1| B8 10.10 Aw| 47
48 sy K& HE 1| B8 10.10 Aw| 47
49 E5 HEH AR 1| 3 10.10 AW | 47
50 At AR DA 2 | B 10.08 AW 50
51 Hof | BERE REE 1| 3 10.00 AW 51
52 ot kil R 1| 3 10.00 AW 51
53 IR EH A 1| 3 10.00 AW 51
54 fREEBR 1EAR 8 2 | B 10.00 AW 51
55 2% i) 4 1| 3 10.00 AW 51
56 IR S 1| B8 9.90 AW 56
57 IR #H 1| B8 9.70 AW 57
58 IR Bt 1| B8 9.70 AW 57
59 FEHIR ] EZN 2| B 9.70 AW 57
60 BRSI E3 X 2| B 9.70 AW 57
61 BE i FE 1| B8 9.60 AW 61
62 FEHIR REE £+ 1| B8 9.55 AW 62
63 ik e RiR 1| B8 9.50 AW 63
64 At I 253 2| B 9.50 AW 63
65 BE T\ SR 1| B8 9.50 AW 63
66 FER ]RIT B} 2 5 9.50 AW 63
67 BE MALR K& 1| B8 9.50 AW 63
68 it 1HE BEith 2| B 9.47 AW 68
69 WE e % 1| B8 9.45 AW 69
70 2% 2 [ 1| B8 9.45 AW 69
71 AL SHIRT 7 2 ] 9.43 AW 71
72 botic] hE B 1 ] 9.40 AW 72
73 HHE HEF He5s 1| B8 9.40 AW 72
74 EN i 5 2} 1| B8 9.40 AW 72
75 E5f T & 1 ] 9.25 AW 75
76 Al panm| =3} 1 ] 9.20 AW 76
77 A KT s 1 3B 9.20 AW 76
78 EA il A 1| B8 9.20 AW 76
79 ESITE4 HAE LES 2| B 9.20 AW 76

No. B 2T T | PE | MR | LA AW | JE
1 KINA =R i 2 | & 10.82 | AW 1
2 KINA T B 2 | & 10.71 | AW 2
3 BT XE [ZES 1| % 10.65 | AW 3
4 3 i [ 2 | & 10.65 | AW 3
5 Isc BF A P EES 10.55 | AW
6 PR ol AL 1| % 10.17 | AW
7 Eal R ) 2 ke 10.00 | AW
8 BT il (e 2 | & 9.80 | AW
9 EL] £ BER 1| % 9.80 | AW
10 EIN e LRES 1| % 9.70 | AW
11 BERSI + Mz 2 | & 9.70 | AW
12 el K D 2 | & 9.70 | AW
13 EES5 BT EES 2 | & 9.70 | AW
14 g Bk LS 2 | & 9.64 | AW 14
15 ;] A =22 S 9.60 | AW 15
16 PR hE LS 1| % 9.60 | AW 15
17 L] 7 B3 1| % 9.60 | AW 15
18 EL] =K Bl S 9.60 | AW 15
19 BRE) | #EF LUES 2 | & 9.60 | AW 15
20 245 B F578 P EES 9.60 | AW 15
21 %) =k B 1| % 9.50 | AW 21
22 EIN K *#A 1| % 950 | AW 21
23 BREI il i 1| % 9.50 | AW 21
24 FIAAR KHE 2T 1| % 9.45 | AW 24
25 gL | ART | <55 2 | % 9.43 | AW 25
26 ] e E3 2 | % 9.40 | AW 26
27 e = biEsy 2 | & 9.40 | AW 26
28 Tt (5] ER P EES 9.40 | AW 26
29 AL HO TG | 1 | & 9.40 | AW 26
30 e S il 2 | & 9.35 | AW 30
31 fPEERT a il 1| % 930 | AW 31
32 S 3 B 2 | & 930 | AW 31
33 KNA R [CES 2 ks 9.20 AW &
34 EA i £ 1| % 9.20 | AW 33
35 fPEERT 2] Bt 1| % 9.20 | AW 33
36 FREEIR kA E3 1 s 9.20 AW &
37 =t 3 a5 2B 1| % 9.10 | AW 37
38 il L (= 2 | & 9.10 | AW 37
39 fPEEBT FRE g 2| & 9.10 | AW 37
40 R &7t % 2 | & 9.05 | AW 40
41 =L 3 At D3 1| % 9.00 | AW 41
42 e #HA HY 1| % 9.00 | AW 41
43 PR il ETE 1| % 9.00 | AW 41
44 o] A (£ 1| % 890 | AW 44
45 ] a0 BEE 1| % 890 | AW 44
46 =8 [CES 1| % 890 | AW 44
47 PN AR £ 1| % 890 | AW 44
48 2% iR ] 1| % 890 | AW 44
49 BRE)N | FT = 2 | & 8.80 | AW 49
50 R B E0F 2 | & 8.80 | AW 49
51 Ed] 3R wE 1| % 8.80 | AW 49
52 Ed] #E & 1| % 8.80 | AW 49
53 AL =8 i 1| % 870 | AW 53
54 Pl 24 B 2 | & 8.60 | AW 54
55 PR TR E:XES 1| % 8.60 | AW 54
56 R Il 12 2 | & 853 | AW 56
57 PR i 2 1| % 850 | AW 57
58 BRE| & BmOH | 2 | & 8.45 | AW 58
59 e s fES 1| % 8.40 | AW 59
60 PR Hp HERE | 2 | & 8.40 | AW 59
61 At [52] HDY 2 | & 830 | AW 61
62 At BT DE 2 | & 830 | AW 61
63 o] =is il 1| % 830 | AW 61
64 ViEYE| R# FRF 1| % 830 | AW 61
65 PR KEF EXS 1| % 8.25 | AW 65
66 o] E=RE FF 1| % 810 | AW 66
67 EH NE 8 1| % 810 | AW 66
68 FRER | NER e 2 | & 8.00 | AW 68
69 AL 2 HE 1| % 8.00 | AW 68
70 e FaH DE 1| % 8.00 | AW 68
71 e g bk 1 = 7.85 AW 71
72
73
74
75
76
77
78
79




80

81

82

83

84

85

86

87

88

89

90

91

92

93

80 PR = HER 1 E:] 9.15 AW 80
81 = A &3 2 E:] 9.10 AW 81
82 Al B EJ 1 E:] 9.05 AW 82
83 £ R & 2 E:] 9.00 AW 83
84 = Lt =18 1 3 8.90 AW 84
85 ot bt ok 1 E:] 8.90 AW 84
86 PR L fifLsE 1 E:] 8.80 AW 86
87 PR EH A 1 E:] 8.75 AW 87
88 Al 2T ZHERR 2 3 8.65 AW 88
89 poc) ik Rk 1 E:] 8.60 AW 89
90 e A BB 1 E:] 8.27 AW 90
91 Al =1 1z 2 E:] 8.20 AW 91
92 =t 3 et HEAR 2 E:] 8.10 AW 92
93 = BILE & 1 3 8.10 AW 92
94 R b ] 1 3 7.80 AW 94
95 E3ad L] Kb 2 3 6.50 AW 95

94

95




R3.12.4 B 300m XNF

No. FiE 4T ZE1 | FE| MBI 300m [AW| JE I
1 H=HAL 1BK E 2 E 38.9 AW 1
2 H=HAL I EH 2 L3 40.4 AW 2
3 FARER IRA — 2 L3 40.6 AW 3
4 i RE Bt 2 L3 41.3 AW
5 EIN BT EPN 1 L3 41.4 AW
6 H=HAL EES & 2 L3 415 AW
7 PR IR HF 2 E 41.8 AW
8 RS KE EE 2 L3 42.0 AW
9 FEhk | MEH &R 2 L3 42.0 AW
10 ot i 22 2 2 42.0 AW
11 EA B hiE 2 2 42.2 AW 11
12 s e J-ON 2 L 42.3 AW 12
13 BEREI E A1 2 L 42.4 AW 13
14 Ailide )I1%% 279 2 2 42.6 AW 14
15 RS fi&) B 2 2 42.6 AW 14
16 WA I FX 2 L 42.7 AW 16
17 sAFEEL  RE 2} 2 £ 42.7 AW 16
18 AW pati:) PEE 1 L 42.9 AW 18
19 AW 2% RE 3 2 43.0 AW 19
20 Ehe 5K BEB 3 2 43.2 AW 20
21 AH B 2 E 43.2 AW 20
22 5] P BA 2 E 43.3 AW 22
23 gERE)N | BEA BEK 2 2 43.4 AW 23
24 EN s p 1 2 43.4 AW 23
25 WE H & 1 E 43.5 AW 25
26 S T AT 2 2 43.8 AW 26
27 Al AR DA 2 2 43.9 AW 27
28 F=AL =] g 1 2 44.1 AW 28
29 2% T HE 1 E 44.1 AW 28
30 2% PIAS il 1 E 44.2 AW 30
31 PR A HF 1 E 44.5 AW 31
32 i =2 155 1 E 44.6 AW 32
33 sy g =18 1 E 44.7 AW 33
34 FERR 2] EZS 2 E 44.7 AW 33
35 g3 il]m] FIA 1 E 44.8 AW 35
36 Ehe B b NG 1 E 44.9 AW 36
37 2% R k4 1 E 45.1 AW 37
38 PR & RE 1 E 45.2 AW 38
39 EA il X 1 E 45.3 AW 39
40 sy LT EEPS 2 E 45.3 AW 39
41 =AWl BR = 2 ) 45.3 AW 39
42 PR % Ha 2 E 45.6 AW 42
43 EA =2 12 1 E 45.8 AW 43
44 Al HYE LES 2 E 46.0 AW 44
45 hntt A HE it 2 E 46.1 AW 45
46 20 KT i) 1 E 46.3 AW 46
47 ERR E3) 1 E 46.4 AW 47
48 EA JIER 2 E 46.7 AW 48
49 b i) HR FIR 1 5 46.7 AW 48
50 PR T BX 1 5 46.7 AW 48
51 2} W ] 1 5 46.7 AW 48
52 =AWl AE FHK 1 E 46.8 AW 52
53 2% IR &L 2 5 46.9 AW 53
54 EE b i 1 E 47.0 AW 54
55 EX ARIR piie) 1 5 47.2 AW 55
56 EX KE HE 1 5 47.3 AW 56
57 BE J\bE S 1 E 47.6 AW 57
58 Eom | mEAE KEE 1 E 47.6 AW 57
59 AL & £S5 1 5 48.1 AW 59
60 PR B b 1 5 48.2 AW 60
61 ENE il]s| PR 1 E 48.4 AW 61
62 PR AR Fik 2 E 48.4 AW 61
63 2% it &b 2 E 48.4 AW 61
64 F=AL B A% 1 E 48.5 AW 64
65 EX= =5 =3 1 5 49.3 AW 65
66 potic] FE B 1 5 49.3 AW 65
67 EIK = RIE 1 E 49.6 AW 67
68 PR BN RAR 1 E 49.6 AW 67
69 Ey PAS 1812 1 3B 49.7 AW 69
70 e3P EH KHH 1 3B 49.7 AW 69
71 EE = X 1 5 50.0 AW 71
72 e it B8 1 5 50.2 AW 72
73 e3P A B 1 E 50.2 AW 72
74 e =R # 1 ] 50.3 AW 74
75 AL =T fty:3 7 2 5 50.3 AW 74
76 fReEb [ifgy AEE 1 E 50.7 AW 76
77 fReEb Rt e} 2 3B 50.7 AW 76
78 F=AL pans| =3 1 E 51.0 AW 78
79 E=y B gttt 2 5 515 AW 79

No. FiiI® HF 2 | FE| MBI 300m |AW| JE fi
1 FIAR P kR 2 kS 45.8 AW 1
2 2% 5% Bk 1 kS 46.1 AW 2
3 e AR R 2 kS 46.4 AW =
4 p1 ] SEK F5 2 kS 47.0 AW
5 e KR OB 2 ES 47.0 AW
6 PSR KE EES 1 kS 47.1 AW
7 FAEEIR LA Lk 2 kS 48.4 AW
8 23 S&il i 2 kS 48.9 AW
9 ES EH 4IfE 2 ES 49.2 AW
10 K HE i 2 kS 49.3 AW
11 IsC BR A& 2 kS 49.4 AW 11
12 PR B FE 2 kS 49.7 AW 12
13 BREI) & GIES 2 kS 50.1 AW 13
14 Pk R E 2 kS 50.2 AW 14
15 e IMRTT <nb 2 kS 50.2 AW 14
16 Pk R AL 1 kS 50.2 AW 14
17 EAN HR =B 1 kS 50.6 AW 17
18 PR e EiES 2 kS 51.0 AW 18
19 KNA gR 2 2 ks 51.5 AW 19
20 PR & ek 2 ks 51.6 AW 20
21 potii] 2] G 1 ks 51.6 AW 21
22 BREI $ [ES 2 ks 51.7 AW 22
23 RE i) B 1 ks 51.8 AW 23
24 EE] AR B 1 ks 52.3 AW 24
25 At F5 HDY 2 ks 52.3 AW 24
26 PR i BH 2 ks 52.5 AW 26
27 EAN oK %A 1 ks 52.6 AW 27
28 At BT DE 2 ks 53.0 AW 28
29 PR kO EE 1 = 53.0 AW 29
30 R HE ES 1 ES 53.1 AW 30
31 PR ] EF] 1 ES 53.2 AW 31
32 REF K A 2 ES 53.3 AW 32
33 FRR il R 1 ES 53.3 AW 32
34 &l AgE ELS) 2 ES 53.5 AW 34
35 BRI &5 BDH 2 ES 53.6 AW 35
36 BRI &l & 1 ES 53.8 AW 36
37 e M DR 1 ES 53.8 AW 37
38 poti) B #F 1 ES 53.8 AW 37
39 PR NEB EE 2 ES 54.0 AW 39
40 Al 2 e 1 ES 54.1 AW 40
41 e g Ttz 1 ES 54.3 AW 41
42 ot s iR 1 ES 54.4 AW 42
43 PiEFE RIR FIEF 1 ES 54.5 AW 43
44 EIN HE e 1 ES 54.7 AW 44
45 EEE 2 E 1 ES 54.7 AW 44
46 e A HmY 1 ES 54.8 AW 46
A7 KINA R S 2 ES 54.8 AW 46
48 b &0 BRE 1 ES 55.0 AW 48
49 bt &R E S 1 ES 55.2 AW 49
50 Tt g ES 2 ES 55.2 AW 50
51 RS TR BIEE 1 ES 55.7 AW 51
52 bt S ERAES 2 ES 55.7 AW 51
53 Al HO FRRRD 1 ES 55.9 AW 53
54 BREI ikl = 2 ES 55.9 AW 54
55 RS Heh BERE 2 ES 56.0 AW 55
56 RE ezl uE 1 ES 56.4 AW 56
57 PR &l it 1 ES 56.8 AW 57
58 25 w: EF] 1 ES 56.9 AW 58
59 KINA T E 2 ES 57.7 AW 59
60 AW 218 il 1 ES 57.8 AW 60
61 PR Il b 2 ES 58.9 AW 61
62 il g & 2 ES 59.2 AW 62
63 il i 6% 2 ES 59.8 AW 63
64 xRE HE D H 1 ES 60.1 AW 64
65 bt il = 1 ES 61.2 AW 65
66 g i i 1 ES 61.4 AW 66
67 25 RS [ 1 ES 63.8 AW 67
68 FER i £ 1 ES 63.9 AW 68
69 KNA 23 &7 2 ES 64.0 AW 69
70 =g NG Ea 1 ES 70.8 AW 70
71
72
73
74
75
76
7
78
79




80

81

82

83

84

85

86

87

88

89

90

80 S MALR 1 E:] 51.5 AW 79
81 PR =] 1 E:] 51.7 AW 81
82 E5 e B2 1 E:] 52.0 AW 82
83 i EH A 1 E:] 52.3 AW 83
84 AR KIF £+ 1 3 52.7 AW 84
85 B i R 1 E:] 54.5 AW 85
86 ot bk ok 1 E:] 55.1 AW 86
87 B = it 1 E:] 55.5 AW 87
88 poc) k] Rk 1 3 56.9 AW 88
89 = BILE & 1 E:] 59.0 AW 89
90 FARER b ] 1 E:] 59.0 AW 89
91 =% B Kb 2 E:] 61.0 AW 91
92 Al =1 =% 2 E:] 63.1 AW 92

91

92




No. FiE %7 ZE | FE| MR 1000m | AW IE i
1 FEhk | MEE &R 2| &8 2.52 AW 1
2 e kil BR 2| &8 2.52 AW 1
3 #ldt AR DA 2 5 2.54 AW 3
4 ERE)| BA BEA 2| B 2.56 AW
5 H=HAL 25 233 3| B 2.57 AW
6 #ldt F48 X 3 5 2.57 AW
7 IR " EZS 2| B 3.00 AW
8 H=HAL 1BK = 2 | B 3.01 AW
9 hotE 1HE E2A 2 | B 3.02 AW
10 Ehe HvK AR 3| 8 3.03 AW
11 EIN ek b3 2 | B 3.03 AW
12 Ailide )I1%% 279 2 | B 3.05 AW 12
13 ey I\ S 1 2 3.06 AW 13
14 BRE)N| KB E3o] 2 | B 3.08 AW 14
15 #AFHEEL RE % 2 £ 3.09 AW 15
16 ] il]s] FIA 1 2 3.09 AW 15
17 ey PAS &2 1 2 3.16 AW 17
18 E30) KIT pisd) 1 2 3.16 AW 17
19 EES 3 B 2 | B 3.16 AW 17
20 Eae LT EEPS 2 | B 3.16 AW 17
21 PR RE Bt 2 | B 3.16 AW 17
22 AW 2T ZHERR 2 | B 3.19 AW 22
23 2% TR & 2 | B 3.20 AW 23
24 Ailide A L2 2 | B 3.21 AW 24
25 EA 0] R 1 [ 3.21 AW 24
26 BREI x A3 2 | B 3.21 AW 24
27 foti) M FK 2 | B 3.22 AW 27
28 AL &l A5 1 [ 3.23 AW 28
29 SRA — 2 | B 3.24 AW 29
30 HKE ] 1 C 3.25 AW 30
31 FH o 1 C 3.25 AW 30
32 gL =48 1 C 3.26 AW 32
33 RE BEE 1 C 3.26 AW 32
34 PIAS £ 1 C 3.26 AW 32
35 i 22 2 C 3.26 AW 32
36 A HF 1 C 3.27 AW 36
37 EI Fo 1 C 3.28 AW 37
38 T BX 1 C 3.28 AW 37
39 KIF e+ 1 C 3.28 AW 37
40 IR el 3t 1 ) 3.29 AW 40
41 EK il RE 1 ) 3.29 AW 40
42 WE HhAf B8 1 ) 3.30 AW 42
43 ESpare) il]u] K 1 ) 3.30 AW 42
44 FRIL T AT 2| B 3.31 AW 44
45 AL LT Fa 2| B 3.31 AW 44
46 =AWl LS HE 2| B 3.31 AW 44
47 |meoracasrd| K B/ 2| B 3.31 AW 44
48 WE = # 1 ) 3.32 AW 48
49 ES 5 Rk 2N 2 5 3.32 AW 48
50 = AR HE 1 5 3.34 AW 50
51 2% e &b 2 | B 3.34 AW 50
52 2} W ] 1 5 3.35 AW 52
53 E5F = Bz 1 5 3.36 AW 53
54 EA JIE 2 5 3.36 AW 53
55 2] B 1 5 3.36 AW 53
56 = ARIR piie) 1 5 3.37 AW 56
57 AL BR 1= 2 5 3.37 AW 56
58 E5F T & 1 5 3.38 AW 58
59 E9E i E 1 5 3.38 AW 58
60 R 5 K= 1 5 3.40 AW 60
61 E9E BRE KEE 1 5 3.40 AW 60
62 E9E EH K 1 5 3.41 AW 62
63 i KE K 1 E 3.41 AW 62
64 AL AR B H & 1 5 3.41 AW 62
65 e RS qE 1 5 3.42 AW 65
66 2% wa =it 1 5 3.42 AW 65
67 FER EH BRA 1 5 3.42 AW 65
68 2% pad=:) x4 1 5 3.44 AW 68
69 AL panm| =3} 1 5 3.45 AW 69
70 EA = = 1 5 3.46 AW 70
71 fREEBE [ifny AEE 1 E 3.46 AW 70
72 PR = HEs 1 E 3.46 AW 70
73 ES B IRAEB 1 E 3.46 AW 70
74 e HE FI 1 E 3.47 AW 74
75 E5f HE B2 5E 1 E 3.48 AW 75
76 FER 1B F 2 E 3.48 AW 75
77 EX) &is FE 1 E 3.49 AW 77
78 e His ot 1 E 3.49 AW 77
79 o] 5 e 1 ) 3.53 AW 79

R.12.4 B 1000m XF
No. IR s Z8 | FE|[WR| 1000m | AW| ME i
1 E=AL | ART | <vs | 2 | & 3.16 AW 1
2 =AW K D 2 | % 3.20 AW 2
3 FRER BT W 2 | % 3.22 AW 3
4 TR KE EES 1| % 3.27 AW
5 RER A 3P 2 | % 3.27 AW
6 RER & EEE 2 | % 3.28 AW
7 BREIN| #EH Fih 2 | % 3.31 AW
8 TR iRy ¥ 2 | % 3.35 AW
9 At T DE 2 | % 3.35 AW
10 BE St B 2 | & 3.38 AW
11 At %] AZDY 2 | % 3.39 AW 11
12 FER | NER EES 2 | % 3.39 AW 11
13 2% 55 R 1| % 3.44 AW 13
14 S =8 GBS 1] % 3.44 AW 13
15 BE nE v 1| % 3.45 AW 15
16 H=AWL B B 2 | & 3.45 AW 15
17 Ci [i] i 1| % 3.46 AW 17
18 BE = ¥ 2 | & 3.47 AW 18
19 FERIR BT BE 2 | % 3.48 AW 19
20 i 2 TRk 1| % 3.50 AW 20
21 BRE) | BT VES 2 | & 3.50 AW 20
22 TR K SRR 1| % 3.51 AW 22
23 TR Hf BRE | 2 | & 3.51 AW 22
24 HHE A0 BE 1| % 3.54 AW 24
25 BE i HirY 1| % 3.54 AW 24
26 FRER 2 & 1| % 3.58 AW 26
27 =5 B F5 2 | & 3.59 AW 27
28 E% BIR ] 1| % 3.59 AW 27
29 B AR £ 1] % 4.01 AW 29
30 EIN A B3 1| % 4.01 AW 29
31 FERIR il BFH | 1| % 4.02 AW 31
32 1] BB [IE] 1| % 4.02 AW 31
33 FERIR R B 2 | & 4.05 AW 33
34 BRI F mE 2 | & 4.05 AW 33
35 RER TR L7 1| % 4.07 AW 35
36 Isc B fed 2 | & 4.07 AW 35
37 ES = I 7L P EES 4.09 AW 37
38 &l AH S 2 | & 4.11 AW 38
39 R =R L P EES 4.13 AW 39
40 PR kO = 1| % 4.14 AW 40
41 Tt ] ER 2 | & 4.14 AW 40
42 ET] it BR 1| % 4.15 AW 42
43 AW =8 3 1| % 4.16 AW 43
44 cRel| & nmox | 2 | & 4.16 AW 43
45 =l HO E IR EES 4.17 AW 45
46 B FaH e 1| % 4.17 AW 45
47 & L8 R3] 2 | & 4.19 AW 47
48 P B FITF 1| % 4.19 AW 47
49 BF i RS 1| % 4.20 AW 49
50 Ci ik 2y | 2 | & 4.21 AW 50
51 E] A ZRA] 2 | % 4.21 AW 50
52 EN BN EE 1| % 4.22 AW 52
53 E] [ZEE B 1| % 4.23 AW 53
54 KA E3 B 2 | % 4.24 AW 54
55 BERE) & E 1| % 4.24 AW 54
56 RERR I Ty 2 | % 4.25 AW 56
57 e s bk 1| % 4.25 AW 56
58 EN E=S [GES 1| % 4.25 AW 56
59 L BB WmHEE | 1 | & 4.29 AW 59
60 5] 8 = EES 4.30 AW 60
61 i il B 1| % 4.30 AW 60
62 YriEFE RiB FRETF 1 = 4.36 AW 62
63 FER 2] Bt 1| % 4.43 AW 63
64 2% AT D 1| % 4.45 AW 64
65 L 1T EE3 1| % 4.48 AW 65
66 R I 55 2 | % 4.49 AW 66
67 Ed] B = 1| % 4.52 AW 67
68 R HATT e 2 | % 5.08 AW 68
69 E #E EX: 1| % 5.10 AW 69
70
71
72
73
74
75
76
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80 S A1 et 2 E:] 3.54 AW 80
81 EA iR 1 1 E:] 3.54 AW 80
82 PR IRIT B 2 E:] 3.54 AW 80
83 i % By 2 E:] 3.56 AW 83
84 B T i 1 3 3.80 AW 84
85 AR B AR 1 E:] 4.02 AW 85
86 EIN R i 1 E:] 4.04 AW 86
87 FARE b ] 1 E:] 4.07 AW 87
88 = BILE & 1 3 4.07 AW 87
89 Al =1 =% 2 E:] 4.13 AW 89
90 =% B K 2 E:] 4.14 AW 90
91 W ik Rk 1 E:] 4.22 AW 91
92 B i BE 1 E:] 4.32 AW 92

92




